



– (I<sub>ÄI</sub>);  
 – (k<sub>ÖÄ</sub>);

$$\begin{aligned}
 k_{\text{ÄÇ}} &= \frac{\times \ddot{\text{Ä}}\ddot{\text{Ä}} + \acute{\text{I}} \ddot{\text{Ä}} + \ddot{\text{Ä}}\hat{\text{Ä}}}{\ddot{\text{Ä}}\ddot{\text{N}}\ddot{\text{E}}}, \\
 I_{\text{ÄI}} &= \frac{\times \ddot{\text{Ä}}\ddot{\text{Ä}}}{\ddot{\text{Ä}}\ddot{\text{N}}\ddot{\text{E}} \cdot (1 - \eta_{\acute{\text{I}} \hat{\text{Ä}}})}, \\
 k_{\text{ÖÄ}} &= \alpha_{\text{Ö}} \cdot k_{\text{ÖÓ}}, \\
 \times \ddot{\text{Ä}}\ddot{\text{Ä}} &= \sum_{i=1}^{T_k} \frac{\hat{\text{Ä}}\ddot{\text{Ä}}(t_i) - \text{Ç}(t_i)}{\prod_{k=0}^i (1 - \delta(t_i))^k},
 \end{aligned} \tag{1}$$

×ÄÄ – ; Í Ä – ( )  
 , ,  
 . .); ÄÑÈ – ,  
 ; η<sub>Í Ä</sub> – -  
 - ; α<sub>Ö</sub> – -  
 ; k<sub>ÖÓ</sub> – - ( )  
 ( )  
 ); ÄÄ(t<sub>i</sub>) – -  
 ( , , ); Ç(t<sub>i</sub>) – i-  
 ; δ(t<sub>i</sub>) – i- ; ÄÄ –  
 :  
 - ( ) -  
 ; , -  
 ; ,  
 ; ,  
 ; -  
 ; -  
 ; -  
 ; -  
 ; -  
 ; -  
 ; -  
 ; -





(1)

$$Q_p = F_p(RI, PI, \{\tau_q\}), \quad (2)$$

$$Q_p \in \{\times \ddot{A}, \dot{I} \ddot{A}, \ddot{A} \hat{A}, \ddot{A} \tilde{N} \ddot{E}, \dot{A} \ddot{A}(t_i), \zeta(t_i)\},$$

$$F_p(RI, PI, \{\tau_q\}) - \quad ; RI -$$

; PI -

$$(\quad) \quad ; \{\tau_q\} -$$

2.

$$(\quad)$$

$I_z$

$$I_z = \frac{Z_f - Z_p}{Z_p}, \quad (3)$$

$$Z_f - \quad ; Z_p - (\quad)$$

$$(\quad, \quad I_z < 1, \quad);$$

$$(\quad) \quad (I_{pe}), \quad, \quad 1:$$

$$I_{pe} = \frac{P_{ef} - P_{ep}}{P_{ep}}, \quad (4)$$

$P_{ef} - P_{ep} -$  ( ) , ;

) - ) , ( -

$\beta - f(\alpha, \beta, x)$ .  
 $\beta -$  , ,

$\alpha \beta$ ,  
 . " " "

" , " " "

$Q -$  ( )  $\mu_Q(x)$ ,  
 . ,

" "  $\mu_Q(x)$   
 .

1) -

" ( ) ( ).

2) ;

1) 2)  $(a_{min})$ ,

$a_{max}$   
 $[b_{min}, b_{max}] \subset [a_{min}, a_{max}]$ , " "

$[a_{min}, a_{max}] [b_{min}, b_{max}]$  -

:-

;

— ; —

— . —

$$[a_{\min}, a_{\max}] \quad [b_{\min}, b_{\max}]$$

$$\mu_Q(x), Q = [a_{\min}, a_{\max}].$$

$$\mu_Q(x)$$

$$, \quad q$$

$$q = x \quad \mu_Q(x = q).$$

3. —

$$2, \quad -$$

:

$$\mu_Q(x) = A \cdot Z^{\alpha-1}(x) \cdot (1 - Z(x))^{\beta-1}, \quad (5)$$

$$Z(x) = \frac{x - a_{\min}}{a_{\max} - a_{\min}},$$

A —  $\alpha, \beta, A$  (5),

$$\mu_Q(x).$$

$$\alpha \quad \beta \quad :$$

1. —

$$g(x)$$

:

$$f(x) = \frac{1}{\alpha\sqrt{2\pi}} \exp\left[-\frac{1}{2}\left(\frac{x-m}{\alpha}\right)^2\right],$$

$$\alpha \quad m - \quad g(x) \quad :$$

$$g(x) = \gamma_0 f_0(x) + \sum_{i=1}^k \gamma_i f_i(x),$$

$$\gamma_0 + \sum_{i=1}^k \gamma_i = 1.$$

2.  $m_0, d_0, \gamma_0, k, m_i, d_i, \gamma_i :$

$$m_0 = \frac{a_{\min} + a_{\max}}{2},$$

$$d_0 = \frac{a_{\max} - a_{\min}}{2 \cdot n(\varepsilon)},$$

$$\gamma_0 = \frac{b_{\max} - b_{\min}}{a_{\max} - a_{\min}},$$

$$n(\varepsilon): 1 - \int_{a_{\min}}^{a_{\max}} f_0(x) dx = \varepsilon.$$

$$n(\varepsilon) = 4, \quad \varepsilon \leq 0,00005; \quad n(\varepsilon) = 3, \quad \varepsilon \leq 0,0015.$$

$$\varepsilon = 0,00005, \quad n(\varepsilon) = 4.$$

$$d_i = d = \min \left\{ \frac{b_{\max} - b_{\min}}{2 \cdot n(\varepsilon)}; \frac{b_{\min} - a_{\min}}{2 \cdot n(\varepsilon)}; \frac{a_{\max} - b_{\max}}{2 \cdot n(\varepsilon)} \right\},$$

$$k = \left\lceil \frac{b_{\max} - b_{\min}}{d} \right\rceil,$$

] ... [ -

$$b_{\min} - a_{\min} < a_{\max} - b_{\max},$$

$$m_i = b_{\min} + \frac{2i-1}{2} \cdot d, \quad i = 1, 2, \dots, (k-1),$$

$$m_k = \frac{b_{\max} + a_{\min} + (k-1) \cdot d}{2},$$

$$\gamma_1 = (1 - \gamma_0) \cdot \left( \frac{1}{k} + \frac{1}{2k^2} \right),$$

$$\gamma_2, \dots, \gamma_{(k-1)} = (1 - \gamma_0) \cdot \frac{1}{k},$$

$$\gamma_k = (1 - \gamma_0) \cdot \left( \frac{1}{k} - \frac{1}{2k^2} \right).$$

$$a_{\max} - b_{\max} \leq b_{\min} - a_{\min}, \quad :$$

$$m_i = b_{\max} - \frac{2(k-i)+1}{2} \cdot d, \quad i = 2, 3, \dots, k,$$

$$m_1 = \frac{a_{\min} + b_{\max} - (k-1) \cdot d}{2},$$

$$\gamma_1 = (1 - \gamma_0) \cdot \left( \frac{1}{k} - \frac{1}{2k^2} \right),$$

$$\gamma_2, \dots, \gamma_{(k-1)} = (1 - \gamma_0) \cdot \frac{1}{k},$$

$$\gamma_k = (1 - \gamma_0) \cdot \left( \frac{1}{k} + \frac{1}{2k^2} \right).$$

3. :

$$J_1 = \int_{a_{\min}}^{a_{\max}} x \cdot g(x) dx,$$

$$J_2 = \int_{a_{\min}}^{a_{\max}} (x - J_1)^2 \cdot g(x) dx.$$

4. :

$$J_{1Z} = \frac{J_1 - a_{\min}}{a_{\max} - a_{\min}},$$

$$J_{2Z} = \frac{J_2}{(a_{\max} - a_{\min})^2}.$$

5.  $\alpha \quad \beta \quad :$

$$J_{1Z} = \frac{\alpha}{\alpha + \beta},$$

$$J_{2Z} = \frac{\alpha \cdot \beta}{(\alpha + \beta)^2 (\alpha + \beta + 1)}.$$

6. A (5):

$$A = \frac{1}{\int_0^1 Z^{\alpha-1} \cdot (1-Z)^{\beta-1} \cdot dz}.$$

7. :

$$x = z \cdot (a_{\max} - a_{\min}) + a_{\min}, \quad z \in [0, 1].$$

$$\left( \quad \right) \quad , \quad \mu_Q(x),$$

$$q, \quad .$$

4. . -

, x .

(a, b) -

(c, d) x :

$$[a = 2; c = 10; d = 14; b = 18].$$

$D = 0,018$

$m = 0,593$

$\gamma = 7,219; \eta = 4,947$

$(0 \leq x \leq 1)$

$\Delta = 0,001$  ( . 1).



. 1 –

[0;1]

[a;b]

$\Delta = 0,001$ :

$m = 11,488$ ;

$D = 4,597$ ;

$\sigma = 2,144$ ;

$s_k = -0,195$ ;  $x$ ,

moda = 11,792 ( . 2).



. 2 –

1.

, 2008. – 509 .

12.05.2016,  
23.05.2016